> restart:
a:=0.01*%10712: 1:=161.5: d:=0.356: k:=35200:
s:=evalf ((k/ (4*a))*(1/4));

s =0030622814313
> y:=x->B¥*sin (s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf (a*D(D(D(y))) (1)) ;

v

5
4 090244250 10
> evalf(a*D(D(D(y))) (0));

1349 020306

> restart:
a:=0.05*10%12: 1:=161.5: d:=0.356: k:=20200:
s:=evalf ((k/ (4*a))*(1/4));

s =001T&22708534
> y:=x->B¥*sin(s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf(a*D(D(D(y))) (1)) ;

v

5
4043125227 10
> evalf(a*D(D(D(y))) (0));

A5G 98512




> restart:
a:=0.1*10712: 1:=161.5: d:=0.356: k:=17200:
s:=evalf ((k/ (4*a))*(1/4));

5= 00144001 5325
> y:=x->B¥*sin(s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf(a*D(D(D(y))) (1)) ;

v

4168515562 1I:Ij
> evalf(a*D(D(D(y))) (0));

-5641 5 045685

> restart:
a:=0.2*10712: 1:=161.5: d:=0.356: k:=13800:
s:=evalf ((k/(4*a))*(1/4));

s = 001146032400
> y:=x->B*sin(s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf (a*D(D(D(y))) (1)) ;

v

5
4007445216 10
> evalf(a*D(D(D(y))) (0));

-37195 500238




> restart:
a:=0.4*107212: 1:=161.5: d:=0.356: k:=11300:
s:=evalf ((k/(4*a))*(1/4));

s =0.0091a7261400
> y:=x->B*sin(s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf(a*D(D(D(y))) (1));

v

5
40382949452 10
> evalf(a*D(D(D(y))) (0));

19347 12440

> restart:
a:=0.8*10712: 1:=161.5: d:=0.356: k:=7300:
s:=evalf ((k/ (4*a))*(1/4));

s = 000621 1037035:
> y:=x->B¥*sin (s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :
assign(solve({y(l1)=-d,D(y) (1)=0}, {B,C})): evalf(B): evalf(C):
> evalf(a*D(D(D(y))) (1));

v

5
403222151510
> evalf (a*D(D(D(y))) (0));

1. 462297261 1I:I5




> restart:
a:=1.2*10712: 1:=161.5: d:=0.356: k:=4000:
s:=evalf ((k/(4*a))*(1/4));
s = 0005372249759
> y:=x->B*sin(s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) :

assign(solve({y(l)=-d,D(y) (1)=0},{B,C})): evalf(B): evalf(C):
> evalf(a*D(D(D(y))) (1));

v

4.153?1949[!1[!j
> evalf(a*D(D(D(y))) (0));

EJEEQTQDETIDj

> restart:
a:=1.6*10712: 1:=161.5: d:=0.356: k:=100:
:=evalf ((k/(4*a))~(1/4));

s =00019881 Ta=d2
> y:=x->B¥*sin (s*x) *cosh (s*x)+C*cos (s*x) *sinh (s*x) ;
assign(solve({y(1)=-d,D(y) (1)=0}, {B,C})); evalf(B); evalf(C);
> evalf(a*D(D(D(y))) (1));

0 Vv

5
4 024430046 10
> evalf (a*D(D(D(y))) (0));

4DJETD08421D5




